
Cut Sheet

 

 3.8 

 7.09 

 6.19 

 1.31 

 4.33 

3

1

2

4

ALL TILE HOOK

Part Number Description
ATH-01-M1 All Tile Hook

ITEM NO. DESCRIPTION QTY IN KIT

1 BOLT, LAG 5/16 X 4" 2
2 ASSY, BASE, CLEAR 1
3 ASSY, ARM, CLEAR 1
4 BOLT, CARRIAGE 5/16 X 1" 1

All Tile Hook

v1.0



Cut Sheet

 

 4.00 
 .26 

5/16 THD

 7/16" 
HEAD

 .63 

 .81 

5/16-18 THD

 .39 
 7/16" 

 .75 

5/16-18 THD

 1.96 

 1.10 

 2.13 

 5.51 

 2.13 

 4.02 

 1.0 

 7.50 

 4.96  1.18 

 .83 

 2.37 

4) Arm, Clear

3) Base, Clear

1) Bolt Lag, 5/16 X 4"

2) Bolt, Carriage 5/16 X 1"

Items 
1 & 2

Property Value
Material 300 Series Stainless Steel

Finish Clear

Items 
3 & 4

Property Value
Material 300 Series Stainless Steel

Finish Clear

v1.0


